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Yr9Acc / Yr 10 Adv Mathematics Term 1| 2013 Factorising Test

Section'A (7 marks) ) Expanding Marked by RABS
| | START A NEW BOQKLET
1. Expand and simplify the following:
a  (2x+3)(x-5) ‘ ‘ 1
b. (5 p- 8q)2 : 1
c. (2x+l]Z 1
x
d. (2x+6)(2x~6)-(2x-6)’ 2
e.  (y+3) o 2
Yr 9Acc / Yr 10 Adv Mathematics  Term 1 | 2013 Factorising Test
Section B (11 marks) Factorising . Marked by TMS
gt START A NEW BO&KLE_T
1, Fully factorise the following:
a. 304* ~18g+6pg ' 1
b. 14g7 +56¢* 1
. 242-2g* 2
d. (2c+6)-16 ‘ 2
_I 3tdonn B} o312 1
f. ef ~eg—fg+g* | 2
g (wx) —(x+y) . . 2
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Section C (9 marks) Trinomials Marked by KH1
START A NEW BOOKLET
1 Fuily factorise the following quadratic trinomials:
a. ¥ +6y+9 1
b. x> ~13x+40 1
c. 19t -84 —1* 2
d. —49n+7n* +70 2
e. x*—36x*+35 3
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Section D (12 marks) . Expanding Marked by HRK
START A NEW BOOKLET
1. Simplify the following:
2
a. m _ m 2
m -1
b, 3x+15 » 4x 1
2 x+5
[ 1 + ! 2
a+3 a+4
2 _
d ¢t —11c+28 2
20-5¢
n*=3n-4 n-n
e. — 3
3n*—48 n"+4n
;. n+35 n-3 )

2n* +n—-1 - 2m* +5n-3
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Yp. 1o 5.3  FACTORISING TEST SOLNS 2013

SECTioN R

 SecTionA
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TAKE out -VE
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~GROVPING  BY  PAIRS
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SECTION D 2304 p%on s
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